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31- There are many types of fish species that vary greatly … size, weight, and appearance. 
1) of 2) in 3) at 4) for 

32- Doctors believe that nowadays parents need … useful advice about the high-calorie food that is 
important for growth. 

1) many 2) a 3) an 4) some 

33- The recent study in the U.S. shows that TV doesn’t reflect the real life … . For example, women make 
up 52 percent of the U.S. population, but they show up on-screen only 37.9 percent of the time. 

1) diversity 2) custom 3) effect 4) emotion 

34- It’s not surprising that you will feel weak if you haven’t eaten … for days. 
1) generously 2) physically 3) properly 4) calmly 

35- The unlucky prisoner had seriously hurt himself while attempting to … from the police. 
1) prevent 2) escape 3) identify 4) avoid 

36- The children cheered up at the … of going to the seaside and seeing their friends on holiday. 
1) thought 2) pleasure 3) habit 4) belief 
PART B: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 
on your answer sheet. 

In 1886, John Pemberton, a druggist in Atlanta (USA), made a brown syrup by mixing coca leaves and cola 
nuts. Pemberton sold the syrup in his drugstore as a medicine to cure all kinds of problems. He called his 
all-purpose medicine “Coca-Cola”. When few people bought it, Pemberton sold the recipe to another 
druggist, Asa Candler. Candler decided to sell Coca-Cola as a soda-fountain drink instead of a medicine. 
At the soda fountains in drugstores, the syrup was mixed with soda water to make the drink Coca-Cola. 
Candler advertised a lot and sold his syrup to many drugstores. Soon everyone was going to soda fountains 
and asking for the drink. Candler saw no reason for putting Coca-Cola into bottles. But two businessmen 
thought this would be a good idea. They got permission from Candler, and before long, they became 
millionaires. As of 1903, coca leaves were no longer used in Coca-Cola. The exact ingredients used and 
their quantities aren’t known–the Coca-Cola Company keeps its recipe a secret. World War I helped make 
Coca-Cola popular outside the United States. The Coca-Cola Company sent free bottles of the drink to U.S. 
soldiers fighting in Europe. It became very popular with the soldiers–so popular that the U.S. Army asked 
the company to start ten factories in Europe. After the war, these factories continued to make Coca-Cola. 
Today, there are Coca-Cola factories around the world. 

37- What is the best title for the passage? 
1) The History of Coca-Cola 2) The Life of John Pemberton 
3) Coca-Cola; An Effective Medicine 4) Druggists Help Physicians 

38- According to the passage, John Pemberton … . 
1) was the first man to sell Coca-Cola as a popular drink 
2) sold his all-purpose medicine to a doctor 
3) is the only man to know the recipe of Coca-Cola 
4) believed that his all-purpose syrup could cure any diseases 

39- What does the underlined word “this” in the passage refer to? 
1) reason 2) putting Coca-Cola into bottles 
3) idea 4) going to soda fountains 

40- Which of the following statements is supported by the passage? 
1) During World War I, Coca-Cola Company sent bottles of Coca-Cola to European soldiers in Europe to appreciate them. 
2) Before World War I, outside the U.S, Coca-Cola was not as popular as it was inside this country. 
3) The factories Coca-Cola Company founded in Europe stopped producing Coca-Cola after the war had finished. 
4) Coca-Cola Company used to sell its drinks to U.S. soldiers with a considerable discount. 

PART A: Grammar and Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice 
on your answer sheet. 

زبان انگليسي 2
مباحث كل كتاب

درس 1 تا 3
صفحههاي 15 تا 110

دقيقه 8
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141- The farm was on top of a hill, kilometers away from …, so we decided to stay where we were for the 
night. 

1) the nearest town 2) a more near town 
3) a town the most near 4) a town nearer 

142- Scientists came across the cure by accident … they were studying the health benefits of a rare 
tropical plant. 

1) while 2) instead 3) about 4) during 

143- If you want to stop your hard disk becoming too full, you … any unwanted files. 
1) won’t delete 2) cannot delete 3) should delete 4) would delete 

144- I have a reasonably well-balanced diet, and I try to eat lots of things like … fruit and vegetables. 
1) natural 2) strange 3) fresh 4) suitable 

145- You can say that someone … to mean that they died, if you want to avoid using the word “die” 
because you think it might upset or offend people. 

1) gave up 2) passed away 3) grew up 4) got around 

 

146- Exercise will not only lower blood pressure but … protect against heart attacks. 
1) suddenly 2) possibly  3) unfortunately 4) carefully 
PART B: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 
on your answer sheet.

Nowadays, people are more aware that wildlife all over the world is in danger. Many species of animals are 
threatened and could easily become extinct if we do not make an effort to protect them. There are many 
reasons for this.  In some cases, animals are hunted for their fur or for other valuable parts of their bodies. 
Some birds, such as parrots, are caught alive, and sold as pets. For many animals and birds, the problem is 
that their habitat–the place where they live–is disappearing. More land is used for houses or industry, and 
there are fewer open spaces than there once were. Farmers use powerful chemicals to help them grow 
better crops, but these chemicals pollute the environment and harm wildlife. The most successful animals 
on the earth–human beings–will soon be the only ones left, unless we can solve this problem. 

147- Which of the following statements is TRUE, according to the passage? 
1) People do not know that wildlife throughout the world is at risk. 
2) If we do not take care of wildlife, many groups of animals will become extinct. 
3) All species of animals are in danger of dying out. 
4) People hunt animals only for their fur. 

148- Which of the following words is defined in the passage? 
1) wildlife 2) effort 3) fur 4) habitat 

149- The underlined word “them” in the passage refers to … . 
1) spaces 2) farmers 3) chemicals 4) crops 

150- We understand from the passage that … . 
1) in the past, more land was used for houses and industry 
2) today, there are more open spaces than there were in the past 
3) in the past, there were more open spaces than there are at present 
4) if we solve the problem of pollution in the environment, only human beings will be left on the earth 

PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice 
on your answer sheet. 
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دیدهت ، تینما لوا سرد 

ارچ-1 ناسنا ياه نیتسخن ، اهراغ ار هب ناونع نیلوا لحم یگدنز دوخ باختنا دندرک ؟

يارب رد ناما ندنام زا تارطخ یعیبط و امرس و امرگ و هلمح تاناویح یشحو و...

2- ارچ رد هتشذگ مدرم کی اتسور ای کی رهش رد هعلق يا گرزب یگدنز یم دندرک ؟ ارچ

نانآ فارطا رهش دوخ جربراوید و وراب یم ؟دندیشک يارب عافد زا دوخ رد لباقم نانمشد

رگا-3 داجیا تینما يارب لزنم ینوکسم نات هب امش راذگاو دوش،ياهراکهار يداهنشیپ دوخ

ار هئارا دیهد .1- يارب طایح ای هرجنپ اه زا هدرن تهج تظفاحم هدافتسا مییامن

2- زا رد دض تقرس هدافتسا مییامن 3- زا ملاس ندوب هلول ياه زاگ نئمطم میوش

نیبرود-4 هتسبرادم بصن مینک و...

يارب-4 داجیا تینما رد هسردم هچ یتامادقا ار دیاب ماجنا داد ؟1- رد يدورو هسردم دیاب

هشیمه نابهگن هتشاد دشاب 2- يور هشیش ياه گرزب بسچرب مینزب

3- داوم ییایمیش و لاعتشا از ار لخاد هسفق ياه لفق راد هگن يراد مینک و...

روضح هعماج  رد  يرتنلاک اه  فلا-5 رگا سیلپ ییامنهار و یگدننار و سیلپ یماظتنا ای 

هتشادن دنشاب، هچ یتاقافتا ار شیپ ینیب یم ؟دینک

تاررقم ییامنهار و یگدننار تیاعر یمن دوش و ثعاب داجیا کیفارت یم دوش -ثعاب جره و

دوش یم  مدرم  نیب  رد  ف  جرم و لاتخا

رگا(ب يزور ياهورین حلسم روشک زا ياهزرم ،یبآ یکشخ و ییاوه نامروشک تبقارم دننکن

هچ یتاقافتا ار شیپ ینیب یم دینک ؟

نانمشد هب رکف زواجت هب روشک ام یم دنتفا و تینما روشک ام زا نیب یم دور.

هداس-6 نیرت فیرعت تینما تسیچ ؟ تینما ینعی رود ندوب زا یتارطخ هک هیلع عفانم

،نید ،گنهرف تاداقتعا و ...) ام دوجو و شزرا ياه يونعم  يدام(،ناج ،لام نیمزرس و ... 

دراد.

7- رگا رد روشک تینما رارقرب ،دشاب هچ راثآ یتبثم یپرد دهاوخ ؟تشاد تینما بجوم

يرارقرب شمارآ مدرم و تفرشیپ يداصتقا روشک یم دوش. و نینچمه ثعاب شیازفا تردق

یماظن رد ربارب نانمشد زین یم دوش.
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